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1. FARBROZRRERVERAEOLHLES (FHM3FE4A1BER)

ZRER RRAER
i ® Azt | ZHEEE ® Azt | ZHEEE
(N) (N) (%) (N) (N) (%)
L& 102 30 29.41 2 0 0.00
— e = FEh Hr ik 17 11 64.71 0 0 -
FEASLY 0 0 - 0 0 -
+ KB 3 0 0.00 0 0 -
HREL 16 14 87.50 4 4 100.00
R 2RT 10 10 100.00 1 1 100.00
HBAE 43 2 465 1 0 0.00
I%8 1 0 0.00 1 0 0.00
& &t 192 67 34.90 9 5 55.56
2. BERUEEROLZEHIES(SHSE4R18EHE. BEABEEET.)
‘ s BEDCE I _ EEBaT
X5 HiiE (1) Azt | ZHEEE B k-8 oy k-8 oy NxE | ZHEEE
(A) (%) (A) (A) (A) (A) (A) (A) (%)
o I B 2 0 0.00 — — — — — — —
i 162 61 37.65 12 1 14 4 26 5 19.23
R 2R 13 13 100.00 — — — — — — —
i B 0 of - - = — — — — -
fﬂ REL 63 63 100.00 - - 9 9 9 9 100.00
5] EELF 4 0 0.00 — — — — — — —
EE 10 7 70.00 — — — — — — -
I#%8 3 0.00 — — — — — — —
&t 257 144 56.03 12 1 23 13 35 14 40.00
B — RSB 4 2 50.00 1 1 1 1 2 2 100.00
5 L) 1 0 0.00 — — — — — — —
] — R 27 13 48.15 2 0 5 2 7 2 28.57
ES HEE 9 4 44.44 - - - — — - —
=2 EEE 10 3 30.00 — — — — — - —
= &t 47 20 4255 2 0 5 2 7 2 28.57
BEE — R B TR 2 66.67 1 1 — — 1 1 100.00
EXZER| —HEER 1 50.00 — — — — 0 0 0.00
—REE TR 25 5 20.00 1 0 2 0 3 0 0.00
NER I#%8 12 0 0.00 — — — — — — —
i 37 5 13.51 1 0 3 0 0.00
SEBE SHBAE 62 1 1.61 1 0 6 0 0.00
& F 412 175 42.48 18 36 16 54 19 35.19




